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1. | (A) Explain different objectives of Financial Management. | 14 '_
OR | | ki
(i) Explain the managerial finance functions. 4 \7 ¥
(i) Explain the role of finance manager. R a4 '
| | E ¥ 4

(B) Choose the correct option : (any four)

(1) * The function of finance manager is — y 0 _
(a) Procurement of firance (b) _Distrib'mion of the finance
(c) Estimate need of finance  (d) "All ofthe above

(2) What major changes had been brought to finance function of Traditional
approach ? 9 % :
(a) Distribution of the financé
(b) Efficient and optimum utilization of finance
(¢) .o Procurement of finance . '
(d)" Only\(a) and (b))

(3) The only feasible purpose of finance Management is
(a), Profit Maximization (b) Wealth Maximization

g (c) ) Sales Maximization (d) Asset Maximization
(4) " What leads to change in rate of return on investments as per the chart given
| by Du-Pont ?
(a) Working Capital (b) Fixed Capital

(c) Change in cost of goods sold (d) Al of these
(5) During the process of procurement of finance a
(a) Working Capital ratio is considered.
(b) Fixed Capital ratio is considered.
(c) Both(a) and (b)
(d) None of these
(6) Profits remaining after taxes are use four
(a) Reinvestment in business
(b) Dividend to shareholders
(c) Distribution amongst other stakeholders

(d) Allof these

» and also explain concept of “Time Value

2. (A) Discuss concept of “Risk and Return y

of Money".
. - P.T.O
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(i) You have invested T 1,20, of I'Etu[)f Which is invested in company ABC,
which has a expected 1 4 i1 15% and rest 60% is invested in
company XYZ, with an 3"?60 tfo mu?m of 12%.

What is the return on your P What is the expected percentage rate

of return ? - 7
s of i TPy 7
(i) Explain various type J fou r) | | .

(B) Choose the correct option : (anY " . fic
(1) The value of an asset on & " date in the future that is equwalent in

value to a specified sum today it 18 calleg
(a) Future value k (b) Compound value

(c) Present value (d) Time value 4 _
(2) The face value of 100 equity S:hare 'S X100 and marketgrice is T 225. What

will be capital gain ?

(a) 12,500 (b) 215,000
(c) ¥10,000 (d) T 354000
(3) When the national stock exchange Was established g
(a) 1994 . _(b) 199
(c) 1993 2 \(d) Th995
- (4) What is the relation between PfUﬁtﬂblhty and risk ?
| (a) Inverse B Ut _(b) Positive
(c) Absence ofirelation/ (d) All of these
(5) Inflation occurs,when g J |
' (a) * costef production rise ™ (b) political issues

(c) ‘'demandsare not satisfied (d) None of these

(6).4, . value is the value today of an amount that would exit in the
_ future with a stated investment rate called the discount rate.

" (a) " Present value (b) Compound value
(c) Cumulative value (d) Future value

y S _(A) Dharati company is considering to 1nvest ¥ 2,70,000 in a capital project.
The expected annual income after depreciation but before tax is as follow : 14

Depremanon may be taken at 20% as per Wntten Down Value method. The cost
of Capital 10% p.a. andPV of T 1 at 10% p.a. is given below :

m 1 ] 2 | 3 | 4
Present value ( 0909 0826 | 0.751 | 0.683

The company’s pay tax at 40% rate.

Calculate :
(1)  Pay-back-period - (2) + Accounting rate of return
(3) Net present value (4) Pmﬁtability Index
. OR
(1)  Discuss the factors affecting worKINg capita] requirement. 7
7

(1) Describe the principles of working €apital management.
NE-101 6
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t Income Appreach’ of Capital structure and ﬁnd out leverages from
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uity share capital (each of ¥ 10) .+ %12,00,000

Sales < 20,00,000
10% Debentures - ... -~ . ~ . %4,00,000 -
Fixed Operating expenses © ' ' - ¥1,60,000
“ Rateoftax~-* " ' v T MER 40%
Variable Operating expenses 60% of sales
Calculate : _ -
(1) Operating Leverage ~ (2) - Financial Leverage
(3) Combined Leverage (4) Earnings per share
(1)  Explain preference share with new provisions. | 7

R P.T.O.



(1) _The Balance Sheet of a company'as on 31-03-2019 is as under: 7
| Lisbilities | ¥ [ pcers | €
Equity Capital (¥ 10 each) 1,40,000 | Fixed Assets . - | U,
Reserves o 60,000 | Current Assets
10% Preference Capital ~ 40,000
(X 100 each)
| 14% Debentures (Z 100 | '1,60,000 |
each)
Current Liabilities 60,000
4,60,000

Additional information -

(1) The cost of equity capital 1s 16% and the cost of reserves 15%
(2) The average market prices as under : |

Equity shares ¥ 16, Preference share <70 and Debentures 3 80
(3) Tax rate is 50%. _ B

Calculate the following : | | |
(1) = Weiglited average cost of capital under the book value .
(2) Weighted average cost 0f capital under the market value.

(B) Choose the correct option : (any three) 3
(1) B Ltd. issued 0% preference,share of T 100 each The floatation cost is
estimated at 5 % What would be the cost of capital 7 ' "

@) ©S53% y & (b) 10% .
(c) . 10. 53% d 15%
” o Accordlng to Companies Act, the dividend should be paid within

daysiafter declaring it. _
o @ 21 (b) 30
- (c) 42 (d) 50
'(3) The level at which total operating expenses are equal to the amount of total

interest is called _
(a) Break-even financial leverage (b) Financial leverage
(c) Break-even combined leverage (d) Nore of these

(4) According to Net Income Approach, with constant increase in leverage the

valie of firm

(a) Decreases (b) Fixed
(c) Increases (d) Zero
(5) Retained earnings is a fund without _
(a) Discount (b) Cost
(c) Interest | (d) Premium
s )
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. (A) Discuss on the structure of Indiap Finaﬁéiﬂ System
OR e Gl
Explain :
(1) Designs of Financial System, .
(2) Financial System and Economic

(B) Select correct answer :

intermediaries in Financial System. =+
ncial Markets (b) Financial Institutions
Financial Services (d) Financial Instruments

3) RBI controls ____market.
(a) Capital (b) Money
(c)  Share (d) | Fi_nancial

(4) Financial intermediaries are producers of

(a) Instruments - (b) Services’
(c) Markets o (d) None of these

5. (A) Discusson the functions and best cha‘racteristics of money market.

OR
Explain :
(1) Treasury Bill
(2) Call Money

11




(B) Make true pairs:
* (B) Maturity Period

(A) Instrument . .
(@) Certificate of Deposit (1) " 1day to fortnight
(b) Call Money | (2) *3'months to | year
(c) Treasury Bill (3 3 months to 6 months
(d) Commercial Bill - 4 1 day or 24 hours

() "Only 3 months
, () 14 days to 364 days

3. | (A) Discuss on reforms of [ndian Capital Market,
OR gl biligas o
Explain
(1) Functions of Capital Market
(2) Roleof SEBI in Capltal Mar ket '
(B) Select correct answer
(1) Full form of ECBs = _
(a) European Convertible Bond
(b) Euro Convertible Bondss -
(c) Euro Conversion Bof

(d) European Conv
(b) European Stock Exchange

(2) - GDRs are lls ' 5
Bo cXcnang
K -«. ~ (d) Britain Stock Exchange

| campany
“(b) Public

(d) -Unlisted

cuss on Listing of securities. R 14
OR - - |

. Explain :

(1) Stock Market Index |

(2) Functmns of Secondary Market

(B) Select correct answer :
(1) Base year of Sensex = _

P

"ql '-p

@ 1978-79 - () 1979-80
(c) 1977-78 (d) 1981-82°
(2) Establishment year of | Bombay Stock Exchange = _
(a) 1885 | () 1890
(c) 1857 (d) 1875 "
(3) Currently rolling settlement cycle = | o o
@ T+5 B) T 3umensial b
(c) T+ 2 d T+4 o |
— e —
12 .
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